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THE OPEN UNIVERSITY OF SRI LANKA

CERTIFICATE IN ENTREPRENURSHIP AND SMALL BUSINESS MANAGEMENT
PROGRAMME

LEVEL 02 — FINAL EXAMINATION 2016

BASIC STATISTICS & ECONOMICS - MCC1103

DURATION - TWO (02) HOURS

DATE: 13T NOVEMBER 2016 TIME: 10.00 a.m — 12.00 noon

General Instructions

e Answer Two (2) questions from PART ‘A’ and TWO (2) questions for PART ‘B’.

» It is advisable to spend one hour for each part.

¢ Provides answers for each part separately in separate answer books and hand over
them separately.

e Graph papers will be provided.

e Non programmable calculators are allowed.

e All questions carry equal marks.

O @

PART “A”

) What are the assumptions used in Production Possibility Curve Analysis?

Explain. ‘ (5 Marks)
(i) Explain the following using Production Possibility Curve Analysis.
Economic Growth.
Inefficient level of production.
Fixed opportunity cost.
Improvement of technology of producing only one good.

(3 marks x 4=12 Marks)

(iii) ~ What are the differences in solving Basic Economic questions in free
market economic system and command economic system? (8 Marks)
(Total 25 marks)

2) Write brief notes on the following to clearly bring out the meaning.

(a)
(b)
(©)
(d)
()

Productivity

Perfectly Competitive Market

Electronic Commerce

Economic Profit

Opportunity Cost (5 marks x 5 =25 Marks)
(Total 25 marks)



3) (@
(b)
(D
(i) -
(iii)

(iv)
)

“ @
(b)
(©)

Differentiate between movement along the demand curve and movement of the
Demand curve. (10 Marks)

Using the demand and supply analysis explain the likely changes in the respective
market under the following given conditions. Use illustrations to explain your
answer.
When the price of tea goes up, market for sugar.
People expect the price of motor vehicles to go down in the future, current market
for Motor vehicle. :
Government provide subsidies’ to coconut growers, market for coconut.
Price of petrol goes down, market for petrol.
Income level of the people has gone up market for air-conditioners.

‘ (3 marks x 5 = 15 marks)

(Total 25 marks)

What are the main characteristics of a Perfectly Competitive market?
(5 marks)
“Firms that operate in Monopolistically Competitive markets has the ability to set
the price in the market? Do you agree? Explain. (8 Marks)
Do you agree with the following statement? Explain using illustrations.
(i)  Firms that operate in a perfectly competitive market are price takers.
(i) Natural monopoly created due to economies of scale.
(iii) Firms that operate in a Monopolistically Competitive market do not use
advertising.
(iv) In an oligopoly market firms make pricing decision in agreement.
(3 marks x 4= 12 marks)
(Total 25 marks)

Part ‘B’
Answer 2 questions only
(5) a) Solve the following equations
i) —50x + 150 = 12(x — 3) (2 marks)
.. 2 _ -3
(ii) X1 1zx (2 marks)



(6)

(N

b)

b)

x%-3x

(iii) =61 (4 marks)

Solve the following simultaneous equations: (4 marks)
y=-2x+2
Sy= x-—12

Find the solution of 2x2 —7x+6=0 (4 marks)

Ifa= ler b = —2 and ¢ = -3, then find the value of the following expression.
3(-a)3+2b?%+c%+6
(c—-3)%2+4a

(4 marks)

The food for a dog costs twice as much as that for a cat. The budget for food in a pet

hospital is Rs. 5,130/-per day to feed 16 dogs and 25 cats. How much does the

hospital spent for the food for a dog and for a cat on each day? (5 marks)
(Total 25 marks)

A company produces 3 types of products as A, B and C. Quality inspection was
carried out by selecting 20% of the whole production. The production quantities are
as follows: A —240, B — 370 and C — 190.

(i)  Obtain the population size and the sample size. (4 marks)
(i)  Explain how you can pick a simple random sample of products. (6 marks)
(iii) Explain how a systematic sample of products can be made. (7 marks)

Briefly describe the following with suitable examples:

(i)  Discrete and continuous data

(ii)  Population and sample ‘ (8 marks)
(Total 25 marks)

A) The data pertaining to the dairy production at a small farm for a period of 60 working

days are as follows:

Dairy Production (litres) Number of Days
0 and upto 10 5
10 and upto 20 9
20 and upto 30 21
30 and upto 40 15
40 and upto 50 10
Total 60




a) Construct the following for the above data.

(i) Histogram (5 marks)
(ii) Frequency Polygon (3 marks)
(iii)  Pie Chart (6 marks)

b) Find the median for the above data.(show how you derived the answer)(3 marks)

B) The farm produces a milk based sweat product using milk as the main ingredient.
Assume the production of sweat product (in units) is ‘y’ and amount of milk used (in
liters) as ‘x’. Then the production of sweats can be given as

y =4x-1
a) Draw the graph for production of sweats. (y = 4x-1, where x values range from 1
to 8).

b) Using the graph estimate the production when 6 liters of milk are used for the

production.
(8 marks)
(Total 25 marks)

-Rights Reserved-
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